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In the articles offered models, which represent the modern state of informatization
of organs of state administration and model, which take into account application of
the system of the informaciyno-analitichnogo providing. Design results rotined that
introduction of the systems of the informaciyno-analitichnogo providing of regional
state administration increased dirigibility of organs of state administration on
regional and district levels.
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P-10 P-01 P-20 P-02 P-30 P-03 P-40 P-04 P-50

P-60 P-06 P-70 P-07 P-80 P-08 P-90 P-09

,
,

(K1)

U(t) = 40 + 50 +
60 + 70 + 80 + 90

U1(t) = 10 + 20 + 30 + 40
+ 50 + 60 + 70 + 80 + 90

Y(t) = 04 + 06 +
07 + 08 + 09

Y’ = 01 + 02 + 03Y” = 10 + 20 + 30

Y1(t) = 01 + 02 + 03 + 04 +
05 + 06 + 07 + 08 + 09
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    U(t)  Y(t) ,  
’ .     :  –   ;
1 –      ’ ; U1(t) –  ,  
     ’ ; Y1(t) –     

      ’ ; Y’(t) –  
 ,      ’ ; Y’(t)
        ’ :

    1     :

     Y(t)  U1(t) 
   ,   ,   
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 ,       
     .  Y’

    .  
Y’(t)  Y(t)      

 .   ,    .
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     :
 2004 .:  = 0,40; 1 = 2,83;  = 0,25;  = 0,55;
 2007 .:  = 0,46; 1 = 2,52;  = 0,23;  = 0,62.
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     :

 2004 .:  = 0,28; 1 = 2,83;  = 0,43;  = 0,42;
 2007 .:  = 0,35; 1 = 2,52;  = 0,37;  = 0,53.
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  0,46  0,35   ,  –  0,62  0,53.  ,
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,
,

U(t) = 40 + 50 + 80 +
90

U1(t) = 10 + 20 + 30 + 40 +
50 + 80 + 90

Y(t) = 04 + 08 + 09

Y’ = 01 + 02 + 03Y” = 10 + 20 + 30

Y1(t) = 01 + 02 + 03 + 04 +
08 + 09
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   ( / ):
 2007 .

U = 3800; U1 = 5448; Y1 = 8283; Y = 7223; Y’ = 1060; Y” = 1648.
     :
 = 1,33; 1 = 1,55;  = 0,15;  = 1,90.
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  67,4 %   ,    

 ,       49 % [1].    
           ,
          .   

  2007 .       
,    .

       ( / ):
 2007 . U = 2561; U1 = 3672; Y1 = 4059; Y = 3539; Y’ = 519; Y” = 1110.

  ,      :
 = 0,96; 1 = 2,14;  = 0,15;  = 1,38.
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( )

U(t) = 16 + 18

U1(t) = 16 + 18 + 26 + 27+ 28

Y(t) = 61 + 81

Y’ = 62 + 72 + 82Y” = 26 + 27 + 28

Y1(t) = 61 + 81 + 62 + 72 + 82
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